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1. XOAZziiowTHotk. (SHhas ™, AT 1558, Bk175458, C#k35 108 )

(1)  sin(l—2) (2)  cosPw

(3) etz (4) log (m2 + 1)
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2.

(1)

RDORZ z 20T X, (S0, AT 10158, Bik2r, C#345730% )

tan (1 — 2z) (2)  sin'z

e T (4)  log (1 —=x?)
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1.
(1) sin(1—2x)
y=—-x+1 B L&,
{Sin(l — ZC)}/ — % Siny‘ %
= (cosy) *(=1)
=—cos(l—z) &
(3) etz

NI

(2)  cosdz

(4)

(cos? x)/ =3cos’z+ (cosz)
=3cos?z* (—sinz)

= —3sinxzcos?x

log (22 + 1)

y=224+1 8L L,

d

{1og (:172 + 1)}/ =— (logy) + ==
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RORE ¢ lCOVTHITE k. (SH45 B, AW 15758, Bik13 458, O35 108)
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(1)

ROXZ 2 IO L. (S50, Ay 10 158, B2, C#3530% )

tan (1 — 2z) (2)  sin'z

y=—-2x+1tEL L, (sin4x)/:4sin3x' (sinz)’

{tan(1—2x)}':%siny'% =4sin®z+ cosx

=1 ) =4sin®xzcosz EZ
2
cos?y
2 e s
[ wEZ
cos? (1 — 2x) =
(3) ] (4) log (1 — xQ)
y:xz—i—xl—z LB, y=—x2+1&EE L,
mﬁ)’fi w . Ay e d dy
(e dy (e¥) e {log (1 —22)} dy (logy) .
="t (22 — 2273) = % (—2z)
2z =
:2(3:— 3)63:24-;2 BZ T T 22 “EA
2 =
T 221 Nais
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